A

el

Noun @ *fRt¥ pronoun 3BT | @ F pronoun & s'ubstitutmg wor.d (R o :mﬁw
afegfre =) a1 e.g. Khaled is the one (= the man/person) with long grey hair, |
l105. A word that takes the place of a noun is called- [*7# @1@-00, 7218 F@IrTH qmﬁwm%]‘

a) a subject b) an adverb  ¢) an object  d) a pronoun Aol Angyg
106. A pronoun takes the place of a/an — ' [fa == ﬁﬁﬂwfm.,.,,]
a) antecedent b) verb ¢) noun d) subject Ang;;
107. A substituting word is called a — | iz [RU (rrsifram) 09.
a) noun b) pronoun ¢) verb d) adjective Ang:p
108. ‘Among the students, the best one is a boy.” Here 'one' is used as — [CU (B) 0203
a) adverb b) pronoun ) adjective d) number Ans:p

I, me, my, mine, we, us, our, ours, you, thee, your, yours,
(including possessive adj.) he, him, his, she, her, hers, it, its, they, them, their, theirs
2. | Reflexive pronoun & myself, ourselves, yourself] yourselves, himself, herself|

Emphatic pronoun themselves etc. (noun/pronoun 97 A INETT 97T Emphatic)

3. | Demonstrative pronoun this, these, that, those, so, such, the same, one, ones etc,
4. | Indefinite pronoun

one, any, some, many, all, few, several, none, no one,
€veryone, someone, nobody, anybody, somebody,
anything, nothing, everything, they, another, other (s)
what, which, who, whom, whose etc.
what, which, who, whom, whose
whatever, whichever etc.
cach, either, neither etc,
each other, one another etc.

g words is an example of a distributj

1 | Personal pronoun

5. | Interrogative pronoun
6. | Relative pronoun

, that, as, but, whoever,

7. | Distributive pronoun
8. | Reciprocal pronoun
109. Which one of the followin

Ve pronoun? 38 BCS]

a) such b) either ¢) that d) any Ans:b

110. Which one of the following is an example of an indefinite Pronoun?[=feg vy PO-35]
a) such b) this ¢) any d) either Ans:c

111. Which one is the indefinite pronoun? e s ey
a) myself b) they ¢) who d) anybody Ans:d

112. Anybody can apply for the post. Here ‘anybody’ is-

[>eow firws frg-3y)
a) Possessive pronoun b) Indefinite pronoun
€) Distributive pronoun d) Relative pronoun Ans:b
113. Who, Which, What are - (= S e St vz CFIIIH-3 3]
a) interrogative pronoun b) both a & ¢
¢) relative pronoun d) demonstrative pronoun Ans:b
114. Each of the boys gets a prize. Here ‘each’ is a:

. [T ettdrer wiemes (@fibrana)-sy]
a) Definite pronoun
¢) Indefinite pronoun

MASTER

b) Relative pronoun

d) Distributive pronoun Ans:d
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ill Personal pronoun in different persons and case
erson Number Subjective/ Objective Possessive | Possessive
Nominative form Adjective | Pronoun
1" Person | Singular |1 [ Me my mine
| Plral | We | Us our ours

2™ Person ‘ Singular You, Thou you, thee Your, thy yours; thine
Plural You You your yours

3" Person | Singular He/She him/her his/her his/hers
Plural They Them their theirs
Singular It It its

115. My, our, her are — [Sor=e o« S #f=E1-33)

a) nominative case b) dative case

€) objective case

Use of Personal Pronoun

d) possessive case

Ans:d

CUIE o Verb @3 ot RfS Number @ Person @7 subject and/or ¥ 75 27, %71 aox 2™
wreow 3™ @ 0w 1" Person PR 307 @ fanfiea wgweer 231 g Sraifrs sa 2w arw
w@ere® Subjective form 3 @2 Verb  #4%1% Plural 27
116. Choose the correct sentence.

a) 1. you and he were present in the class.
¢) You, he and I was present in the class.

117.

Identify the correct sentence.

a) 1. you and Rahim have passed.
¢) Rahim, I and you have passed.

118.

a) Selim, you and I shall be punished.
¢) You, me and Selim shall be punished.

119.

[RU (¥37) 03-04, [U (7) 10-11, BU (A) 15-16]
b) You, he and [ were present in the class.
d) He, you and [ was present in the class. :b
[RU (rarfes frsr) 08-09]
b) I, Rahim and you have passed.

d) You, Rahim and [ have passed.
Which one of the following sentences is correct? [DU 99-00, BRUR (C) 10-11, IU (G) 13-14]

Ans:d

b) I, you and Selim shall be punished.

d) You, Selim and I shall be punished. Ans:d
@wE®: A text-book of Advanced Functional English-Mohiuddin and Kasem Common Errors 324 29% B T |

[RU 09-10, Medical 17-18]

Which one is the correct sentence given below?
a) You, he and I went there.
¢) I, you and he went there.
_ Select the correct translation of “f¥, 7 ¢ Wf¥ s 3§ 1"
&) You, he and I am friends.
¢) He, you and I are friends.

b) He, you and I went there.
d) You, I and he went there.

b) You, he and | are friends.
d) I, you and he are friends.

Ans:a
[IU (F) 17-18]

Ans:b

121. Which one is correct? [NSI g7 sfavme/fes sfeid-ya, 1% FASOE giga G500/ SHuH ARPA-3]

@) I, you and he are present.
¢) You, he and I am present.
. Choose the correct sentence:

b) You, he and | are present.
d) He, you, and | am present.
[ wgsiEa o4 XA, FACEA § AFrwT JLard TAAIES-04,

BRDB «g w12 siesze-yo, RU (E-calg) 13-14, a1 ¢fy T anee (Fifaam sfedr)-se)

@) I, you and he are present.
¢) You, he and I am present.
~ Which of the following sentences is correct?
b) He and 1 is well.

a) He and I am well,
¢) He and I arc WL”

MASTER

d) He and | was well.

b) You, he and | are present.
d) He, you and | are present.
[RU (E,

LGED 47 3rga@-2o

Ans:b

Ans:b
@ms) 14-15)

Ans:c
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R

-/ rd: .

, T nd ew 3" Person Wiy wi i,
SIS T o AL ::sw'm*r(lm)wmu%'c:: i
TReT Subjective form (I, we, he, she, they etc) 307 ;ﬁfmi* Plural 27 | T

ar T erwfs (123) @f* esfere | Verb & L BT
i S i L U (F) 15-16, B RICTR ¢ somgg.
124. Chose the correct sentence. [ erer f-30, R i ’ 9]
a) You, he and I am guilty. b) You, he and [ are gt lty. A
¢) I, you and he are guilty. d) He, I and you are guilty. e Nsic
125. Mark the correct sentence. [270 T %‘“]
a) He, you and I are to blame. b) He, you z(linld I amt:)obblilanl& Ansid
¢) You, he and I are to blame. d) I, you and he are : :
126. C)hoose the correct sentence. (Freeaifba &y ——-- A1l [areri@ $f S wies e (su @)-3e]
a) You, he and me are to blame for the mess. be (verb) to b']ame
b) He, you and I am to blame for the mess. = to be responsible, %
¢) I, he and you are to blame for the mess. f: 123 or 132
d) You, I and he are to blame for the mess. Ans:c
127. Choose the correct sentence: o [RU (fmafear) 07-08]
a)l, you and he committed the crime. b) You, he and I committed the crime.
©) He, I and you committed the crime. d) I, he and you committed the crime. Ans:a
m Verb 93 %% pronoun @3 subjective It nominative form (I, we, he, she, they) 37
T Verb @3 = Rfey Number @ Person «3 subject and/or w14l ¥& =W, ©T @™ 2nd ST 3rd
AR CTF 1st Person ST 367 3 ooty Subjective form (I, we, he, she, they) 9¢7 |
128. Choose the correct sentence. [WWWWWWW—)&]
a) He, not I, am to be held responsible for loss.
b) He, not me, is to be held responsible for loss.
¢) He, not I, is to be held responsible for loss.
d) He, not I, is to be hold responsible for loss. Ans:c
3. verb @3 “t< subject form 07 | 2. not @7 LT @ "It subject form At SCerAH WA verb
A B12 is T | ©. to be 9T AT verb T passive I past participle I071 ©1% held =3 |
129. Neither Jane nor — have been to thg opera. [FTrcer WICFES-3¢)
a) me b) I ¢) he d) him Ans:b
130. It is correct to say- [DU (D) 08-09]
N a) Habib and myself stayed home. b) Habib and me stayed home.
\ €) Myself and Habib stayed home. d) Habib and I stayed home. Ans:d
J  131. Which is right? [ T8 ST e s, e e s (s from)-oq]
a) He and myself went out b) Myself and he went out
¢) I and he went out d) He and I went out Ans:d

Uentout(mﬁm)wm%ammwwwmwwmﬁwwvmmu |
132. Choose the right pronoun in the blank, — boys want to hititbig. [NU (Rem) 14-15]
a) Them b) We ¢) Us d) Theirs Ans:b
To be verb =%t 717 verh gz W pronoun 93 object form (me, us, him, her, them) Im7 |

133. They called - on the telephone, (Sf1 sipyong e BTt wey JECET) [CU (D) 11-12]
a) we b) they ¢) hers d) us e) she Ans:d
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. Suhina showed - her photographs. (1S frmrss srarettorey Sepreatd et raRt-sb)

-~ Lima showed - the photographs. [NU ("=fa®) 14-15]

a) my b) they ¢) me d) hers Ans:c

135. My uncle decided to take — and my sister to the market. [ffrn® fr'a r2: TTgE (&MF)-33)
)l b) me €) mine d) myself Ans:b

136 '_I:hc teacher told — to leave. [DU (B) 09-10, BSMRUST (D) 12-13]
a) he and me b) himand me €) himand1  d) he and | Ans:b

137. Choose the sentence with the correct agreement of pronouns- [faxfr (Fiffre 33 #)-03]
&) Rahim kindly helped you, me and him. "b) Rahim kindly helped you, him and me.
¢) Rahim kindly helped me, him and you. d) Rahim kindly helped him, you and me. Ans:b
Let @3 verb R¥iw @7 *tx pronoun B3 object form w71 | w3, 914 object form areT
CRTS/Srefamy R R4 Il 59 ¢t 23| frent wapiiea eiverafba object form 4671 |

}38? Let — go there. [©1%, BRI 6 wererfs TaeTas AZFA cmr-34]
a) herand you  b) she and you c¢) you and she d) you and her Ans:d
139. Choose the correct one: (1 ¢ WWF (@S W3) [*r743 THATEA TEHA AZHE A(FAA-34]
a) Let Ruma and I go. b) Let Ruma and mine go.
¢) Let Ruma and me go. d) Let Ruma and myself go. Ans:c
140. Which is the correct sentence? [frdom wfapm Afoarercn epmfere #4@9T-08, RU (1, sr%) 15-16,
a)LetheandI go b) Let I and he go IU (B) 16-17]
¢) Let me and he go d) Let him and me go Ans:d
141. Choose the correct sentence. [emfsr @ sretferrr sifumeraa Azt “f7sEs-05, BRUR (D) 16-17]
a) Let you and I go together b) Let I and you go together
¢) Let me and you go together d) Let you and me go together Ans:d

142. Choose the correct sentence. (G = OfSf 3r# 2@)  [12% BCS, RU (3fezr) 06-07, GRTammamT
TEEEE FEEd A7 (WEF) so, [U (B) 10-11, (G) 14-15, 15-16, KU (S) 15-16]
a) Let he and you be witness b) Let you and him be witness.
¢) Let you and he be witness. d) Let him and you be witness. Ans:b
m Preposition €% “ pronoun &9 object form I07 | 9, @i object form AT

E/E R T @ wyl 7 owm 231 e S drereta object form 0 |

143. Choose the correct sentence. [CTAET 231es o, wiETR-)q, TR Remm orZe womEte-20)
a) Between you and I, | doubt that he will come. WS Ao for. Fifee wieTE-34
b) Between you and I, | doubt that he would come. S0 QT o, TR WA

¢) Between you and me, I doubt that he will come.
d) Between you and me, | doubt that he would come. Ans:c
%. Between ---, this is the greatest book I’ve ever read.  [CU (E) 08-09, &mifis szl frs=-3¢]
a) you and | b)Iand you ¢)youand me d) me and you Ans:c
145. There is really no/ too difference between you and — [DU (D) 10-11,/1U (H) 16-17]
a)l b) we ¢) them d) me Ans:d

Wit 21f& a1 484 0 between 499€® €4 4¢1 me ¥(d, them 0 |

146. Every student in the classroom understands the lecture —. [TU (C) 10-11]
a) except me b) except | ¢) excepting 1  d) excepting me Ans:a

Frere wtd preposition fET except TIEE T € except UH U objective form 3G |
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147. For — did the board of directors vote? (€ S fordsey ¥4 7T coT6 ) (KU 0607
a) who b) whom ¢) whoever  d) whichever  €) whose  Angy,

Be verb (am, is, are, was, were £%iifi) @ *{t subjective form <CT1
e.g. It is not for you to take the responsibility; it is I who am the guilty person in this matter,

G VI SO s S T (o1 I (7 @ T/ aTEea A |

148. Which séntence is correct?
a) This is his speaking.

[T 351eF (SO, FA)-30]
b) This is himself speaking.

¢) This is him speaking. d) This is he speaking. Ans:d
149. It is not — who are to blame. (GTr/Aif &1 712) [ferdem farerer Afbarer (ST FZH1)- 3]
a) me b) we c) us d) him Ans:b
150. It is — whom the committee has chosen. (35 ©IF 7=7 JCACR) [JU (G) 12-13]
a) him b) he himself ¢) he d) himself Ans:c
151. I wish I were—. [T SHIAYF, F91E TEHTH- S0, S FIT IE afafeeis wfEma-yq)
a) him b) his ¢) he d) himself Ans:c
152. It was she not me, who put forth the attractive pro‘position. [TrCed TEFIRL AfE- ]
a) she, not I b) her, not me c¢) her, not I d) she, but me Ans:a
153. It was — who first raised the issue in the meeting. [DU (C) 99-00, CU (%) 02-03, NU 10-11]

a) I b) me ¢) myself d) himself Ans:a
154. It was us who had left before he arrived. [DU (C) 05-06, 07-08, Fre=i¥ 3
a) us who had left before he arrived. Sayaw i Mifma sfE-s0)
b) we who had left before he arrived. T IF (A, F)-35
¢) us who had went before he arrived. Barron’s GMAT Page 65

d) we who had left before the time he had arrived. Ans:b
5. be verb € @ subject form 37 | 2. past perfect tense + before + =t past indefinite tense

m Noun @37 7€ possessive adjective (my, your, his, her, its, our, their etc) IG7
HYRFEE noun possessive I CFGd 's T 2 (58 it 9T (F@ its TS 2, it's T (it's =it is/has)

155. Choose the correét option: Take — time. [JnU (B) 06-07]
a) you b) your c) you’re d) yourself Ans:b
156. I really like the way that car looks, but — price is more than I can afford. [BU ¥ 13-14]
a) its b) it's ¢) it has d) it Ans:a
157. “Youth, I do adore thee.” What is the meaning of the word ‘thee’ in this line?
a) you b) them ¢) your d) yours [COU (B) 05-06] Ans:a

‘ Thee @7 &4 you (ST#AITE/CSINT/COIF) T Gy GIGACE (M= ITI @I verb @ object REIR T |
- gerund (verb+ing) @@ 7t possessive adjective T | Preposition 9@k gerund (verb+ing)
T possessive adjective 337 | Structure: Preposition +Possessive adjective+gerund (&)

158. My father never approved of — a foreigner. [FrTeTCTT SfRETE (TS TeETE)- o)
5o ;:2/ ‘l:tz; Zci)sinarry b) .hcr marrying ¢) she marrying d) she not marry Ans:b
- W on — leaving the room. (ST GO 3 STt A1ei1ea & e #=f%)  [CU (E) 08-09]

a) you b) to you c) ' -

i yours d) your e ? !

160. If you insist — you must pay my money. ’ yyoue s

a i 3
) on my coming b) me to come €) on me to come d) so that I come o (B)XZISO' i‘]
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mms insist on — expensive gifts, it makes most people uncomfortable.
ij them to accept b) their accepting [CU (°) 02-03, (D) 12-13]
¢) they accepting d) they accept Ans:b
posscssivc adjectivetnoun @3 #fRatE possessive pronoun (mine/his/hers etc) TGS |

My performance ls better than your performance. = My performance is better than yours.
wiate, a relative/friend/habit/ favourite game of @« #ta mine/his/hers/theirs/ours a1 | F1, 4310

one of + possessive adjective+plural noun @ “f4at$ 701 | one of my friends = a friend of mine
162. My dog is smarter than [DU (C) 15-16]

a) their b) theirs ¢) your d) her e) we Ans:b
163. 1Is that my key, or is it —. [CU (D) 06-07, NU (famt) 14-15]
a) the yours? b) they your’s? ¢) your? d) yours Ans:d
164. Our laboratory is much more spacious than —. [CU (A) 09-10]
a) you b) him ¢) their d) hers e) they Ans:d
165. You should not say nasty things about Jessica. She is a friend of —.  [CU (E) 02-03]
a) her b) you ¢) ours d) me Ans:c

166. —among you are from Class XII? (commas v @l am @(fer?) [DU D 16-17, GoNsTd SEAH-9]
— among you would like to go first? (COMIMS 04 (F T (ATS BI8?) [CU (F1) 16-17]
a) Who b) Which ¢) Whom d) Whose Ans:a

167. The first half of the game belonged to us, the second half to —.
‘ [DU (D) 16-17, R et aamener (Rfeq «m)-20]

a) they b) their ¢) those d) them Ans:d
168. He is a liar. Do you trust — ? (G7 9351 g | of f& site [T +97) [RU (I) 16-17]

a) his b) him c) her d) he Ans:b
169. Didn’t you know that it — who played the joke? [JKKNIU (3) 15-16]

a) was us b) were us c) were we d) was we Ans:d
170. The Captain, -- had a score of 30. [DU (D) 06-07, JKKNIU (¥) 15-16]

a) Joy and me b) Joy andus ¢) Joy and I d) Joy and myself Ans:c
171. Let — introduce — to —. (COTITE O A Afow Ffew ™m3) [CU (E, Law) 15-16]

a) my, your, his b) me, you, him

¢) myself, yourself, himself d) mine, yours, he e) him, she, their Ans:b
172. Choose the correct sentence. [T I (AD)-0b, TSR < T FHFST-0b]

a) The presents are for you and me. b) The presents are for you and 1

¢) The presents are for me and you. d) The presents are for I and we. Ans:a
173. Find out the correct sentence. (43 Sy wfimets g afsEs-s, COU (B) 09-10]

a) | insist (e #a1) you to go there. b) linsist on your going there.

¢) | insist upon you to go there.  d) [ insist yourself to go there. Ans:b
174. Choose/Find out the correct sentence.  [1U G 11-12, @ 5I¥ ST SRAGR IERFR-20]

a) | and he is present b) I and him is present

¢) He and me are present d) He and 1 are present Ans:d
175. Choose the correct sentence, [TU () 06-07]

a) I, you and he are to blame. b) I, you and he should obey our teacher.

¢) He, you and I are to blame. d) You and I are guilty. Ans:a
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ing into the class room. ,-,[C\U(wo_

e :; ::: e cam;)r :.:n : ¢) her d) his e) them )Ai:f :
177. AII of us Abir, Wafi, Nibir, Aritro and — were prgspnt. (U (b “.]2]
a) me b) minc o1 d) none | A

178. Shamim and - are going to the cinema, (<1 &tz wifir et oere fiz) NUosog
a) me b) myself ¢) my d) 1 At

179. The woman asked me where the hotel was so | told = how to get there, [JnU (D) 05-0¢)
a) them b) she ¢) her dj it oo,

2. Reflexive pronoun: SRR G IEIORY pronoun @a 1" gqg 2" PETsSONn 99 possessive
adjective @3 3" person @ objective €3 et self (singular) @3 selves (plural) 7% 2z e o
@ subject © object @I IR @RI SIHIE Reflexive pronoun A | GoM: myself, ourselves,
yourself, yourselves, himself, herself, itself, themselves etc, 47 qat a verb a2 preposition
@ 7 07 1 Reflexive pronoun a3z noun <R pronoun & ez 797 44l emphatic pronoun

180. =M reflexive pronoun? (& syt fappas (FFrrfentn-3a, 1U G 16-17, gfrma s TZIR-20)

a) Each b) Who ¢) Myself d) He Ans:c
181. Which one is a reflexive pronoun? [COU 06-07, 1U (G) 14-15, BRUR (F) 15-16, RU (E2) 17-18]
a) me b) they ¢) himself d) self Ans:c
182. Which one is a reflexive pronoun? [SUST (A) 09-10]
a) yourself b) that ¢) you d) both Ans:a
183. I cut myself, Here ‘myself’ is a/an- (3 e = wamre wfedt-op, NSI-a7 712313 »fasmre-yq
‘Myself’ is a/an - [BSMRSTU (D) 13-14)  ‘itself’ is a/an -- [TU (C) 10-11]
a) Pronoun b) Adjective ¢) Adverb d) Reflexive pronoun Ans:d
184. Do it yourself (gfi firer 9BT F7). What kind of pronoun ‘yourself is — [RU 03-09, 09-10]
a) demonstrative b) relative ¢) distributive  d) reflexive Ans:d
185. ‘He looked at himself in the mirror.’ What kind of pronoun is ‘himself* in this sentence?
a) Reflexive b) Emphatic ¢) Distributive d) Relative (JnU 06-07] Ans:a
186. “‘He killed himself'— Here ‘himself® is — [1U 04-05, (G) 12-13]
The heroine looked at herself in the pond. The underlined word is — [TU 06-07]
If you do this you will hurt Yourself. (f afir @51 w7 ta oy fires g ) [ Hfafrafie-sy)
a) Personal pronoun b) Relative pronoun
¢) Reflexive pronoun d) An emphatic pronoun Ans:c

m <I=TE subject @7 object yUb1E g% 41f e object @ reflexive pronoun T l
187. Pinocchio is hungry and looks for an €gg to cook - an omelet; but, to his surprise,
the omelet flies gut of the window. [DU (B) 15-16]
a) his own self  b) jtself ¢) oneself d) himself Ans:d
Az O fome ﬂf%‘fﬁf@i@%fﬂﬁﬁﬁﬁ@@mwm@m 901 o (e w7, fow o
A A, FAAGSS wjram coy wrm ¢4 1 fly/go out of the window- oyt (g OV YIS, BYrs 267y

188. Nobody likes her: she talks about — all (he time, [JnU (B) 14-15]
a) her b) hers ¢) herself d) self Ansic

| S W G i 1 a1, o o0 i e =3
189. Control —, Sabah! Everyllﬂg?is—lﬁm:l;n'\t Jmmg [DU (B) 14-15]
a) yourself b) you ¢) me d) herself Ans:a

—
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190. erontrol — Farhan a! Don’t get hysterical (STg-faEex). [JnU (B) 09-10]
a) you . b) oneself ¢) self d) yourself Ans:d

I 4 Imperative fagry subject fZB1a you ¥z wmw ©1F object @ yourself T

M FIERITCP/ARNCE T 200 TR/ () Fracs Faraet o7 | o1 ST e 205 foed So

191. He wanteq nobody - to know — the treasure was hidden. [DU (B) 14-15]
a) except h}m, what b) but himself, where
¢) else, which d) and him, when Ans:b

@ e Sre/=rer wrd but/except WIF® T | ¢F-7W A AT T FICAT FIA ©12 where T |
AR Wz OT SR 61 A7t/ o7 fieer Rt S (S SIE @ T SRR A R |
192. A snake can eat and digest animals much larger than —. [DU (B) 13-14, JKKNIU D 18-19]

a) it ’ b) itself ¢) its d) it has Ans:b
AR A 926 Aot OT Fram 6w @ T W SRCE (0 2O T A |
193. 1 pertainly esteem — as a steady, reasonable kind of person. [DU (A) 08-09]
a) me b) mine c) my d) myself Ans:d

N i oot LA/ oTe g T RO S SR ST T e |
194. Complete the sentence: Masud introduced — to the other guests. [SUST (A) 11-12]
a) hisself b) him ¢) himself d)itself  e) yourself Ans:c
E S Sfefitas Aty T ftens +fafee stafee | o2 introduced @3 2t himself 397 |
Absent, avail, enjoy, pride (€ <=1), exert (768 ¥raT) T verb O G subject NI
reflexive pronoun IATS 27 | e.g. He prides himself upon/on the knowledge of English.

195. Choose the correct sentence. [ JrarG @ A/ qraba TgIRF T4l
[Botremet/amt fermt wfETma-o8, Gfamem @mga szwe «favees-08, BSMRUST (F) 12-13, s89% gores fasa-54]
a) I shall avail this opportunity.  b) I shall avail myself of this opportunity.

¢) I will avail this opportunity. d) I would avail this opportunity. Ans:b
196. Choose the correct sentence. (AT SeGe S (TG TEEm)-o¢, RU (1, 5@ %) 15-16)

a) He absented from the meeting. b) He absented himself from the meeting.

¢) He was absented from the meeting. d) He had absented from the meeting. Ans:b

. Demonstrative pronoun: siEsa B IEERIC AU SIS BCEL R R IR R OIS U EE
@1 noun (& ReiFeId o s | @3 This, These, That, Those, It, so, such, the same %71 |

197. This is my pen. That is yours. Here ‘Th‘is’ and ‘That’ are — [RU 06-07]
a) Personal pronoun. b) Demonstrative pronoun.
¢) Possessive pronoun. d) Noun Ans:b

198. Which of the following is demonstrative pronoun? [DU (%) 90-91, BRDB &7 7z i Tz
FTAIE-3, AAETRA P GITNH-23, FHIF WAL ITOR WARTA-:0)

a) he b) yourself ¢) those d) who Ans:c
m DAl A AT W noun 9% &NBA possessive case T ATFAM'S possessive case € | GUFT
W32 noun (< fTORIRIT JITF 71 @ GTFE uncountable noun € ¢Fd that of @3z plural countable
noun ¢ ¥ those of 7 | IS CFT@ mine/yours/ours/his/hers/theirs 307 |

199. Modern farms are much larger than — of former times. [e o™ rZe wHATate-3a)
aj that b) those ¢) this d) these Ans:b
200. The students of Bangladesh are more meritorious than — of the USA. [CU (B2) 14-15]
a) that b) those ¢) all d) another Ans:b
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201. Choose the correct sentence. s [Rfeq ware= v
a) The sceneries of Chittagong are better than 2 Of. o
b) The sceneries of Chittagong arc better than z} e ,
c) The scenery of Chittagong is better than that of Dhaka.
d) The scenery of Chittagong is better than Dhaka. i e
202. The climate of Dinajpur is like — of Rangpur. (@) 05.06)
a) the b) that c) as d) exactly Ansh

203. Your advice is no different from the other friends. [7H wam STee TR Ty
| a) not different from b) no different from that of the

¢) not different from the d) not different to Ans:b

isas g i i ntry.
e is as great as any other person in defending your cou .
ot HIREEEERE [Pubali Bank-11, DU (D) 12-13, KU (Unit §) 14-15)

a) as great as any other person b) as great as any other persons

¢) great like other person d) as great as that of any other person Ans:d
205. The roads of Rajshahi are wider —. [sex frsss fma-ss, @l Rgere QST TR A3-3y)
a) than those of Dhaka b) than Dhaka CU (E) 10-11
¢) than that of Dhaka d) than Dhaka’s roads Ans:a

206. One’s finger prints are — . (TS LI R T TR T AF WEm)  [Medical 93-94,
fPrawfra RS-0y, KU (Grfwm %) 10-11, HSTU A 14-15 i i e FIHTT WRTeT g Fres-ge)
a) different from those of any other person. b) different from any other person.

¢) different than any other person. d) differs from another person. Ans:a
[Source : BARRON’S TOEFL (10™ Edition) PROBLEM 101. Illogical Compararatives Part A, Page no. 237 _ |
207. Select the correct sentence. [InU (B) 13-14]

a) The roads of Dhaka is wider than Khulna.

b) The roads of Dhaka are wider than those of Khulna.

c) The roads of Dhaka are wider then those of Khulna,

d) The roads of Dhaka is wider than those of Khulna. Ans:b
208. Which one is correct?

[RU 07-08]
a) The streets of Dhaka are cleaner than Rajshahi.
b) The streets of Dhaka are cleaner than those of Rajshahi.
€) The streets of Dhaka are more cleaner than Rajshahi.
d) The streets of Dhaka are more clean than Rajshahi. Ans:b
209. Choose the correct sentence. AT '@ Tt THeEEE WA @ €
a) The houses of our village is better than yours. AT wRveR ey IR SIS0V

b) The houses of our village is good than yours.

¢) The houses of our village are good than those of yours.

d) The houses of our village are better than those of yours,
@ ¥ pronoun @A wHAR U 1 T @rw @ O
none, any, anyone, anybody, some, someone, somebody i
others, most, everything, something, nothing, many, ’
210. Put correct part of speech in the gap. One,

Ans:d_.
0 one,

everyone, everybody, another;
all, few, little, much, many, more 2971 |
Some, any, many, none are- [frafe

a) Personal pronoun b) Interrogative

~ : = pronoun T AfaEs-6)

¢) Demonstrative pronoun d) Indefinite pronoun Ans:d
MASTER | @
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211 ‘Non?Sll)Jl;t% Allah can help us’ What kind of pronoun is ‘None’?
07-08, Féret efcaiter wiiwara wibt i wolcade-23, O et A, (eprase sirefor) wra: ifist TGwIA-23]

agnlzijf}exwe il) Reciprocal i:) Indefinite d) Demonstrative Ans:c
e S ul : 11(;)0110 of, everyone of, anyone of, someone of etc. @7 1t plural noun/ pronoun
| SIEWAr Verd 61 | e.g. One of my uncles is a lawyer. Everyone of the boys loves to ride.

No one of my friends has come to my party. One of the buildings was badly damaged in the fire.

212. rV.thch of the following is correct? (S ferw wafG wer zumg @) [BU (%) 15-16]
a) One of the most favourite fruit is mango

b) One of the most favourite fruits is mangb

¢) One of most favourite fruit is mango. |

d) One of my most favourite fruits are mango. Ans:b
213. Choose the correct sentence. ooy %3 qer G awTE| [som ersras fade-38]

a) One of the most beautiful girls has come,

b) One of the most beautiful girl has come.

c) One of the most beautiful girls have come.

d) One of the most beautiful girl are come. Ans:a
214. One of the — his ability to lecture. [CU (I) 13-14]
a) greater attribute of a professor is b) greatest attributes of a professor are
c) greatest attributes of a professor is ii) greatest attribute of a professor is Ans:c
One of the + superlative degree + plural noun + singular verb
215. Choose the correct sentence. [DU (C) 10-11, IU (B) 14-15]
a) One of the problems are extremely easy to solve.
b) One of the problem is extremely easy to solve. ATAGTAR TG G367
¢) One of the problems is extremely easy to solve. AL P4l BT RS
d) One of the problem’s are extremely easy to solve. Ans:c

216. Which of the following sentences is correct? [16" BCS, DU B 95-96, 00-01, RU =& 07-08,
(D) 12-13, JU (E) 14-15, BRUR (F) 14-15, 51z 3re0¥ wat-se, IU (C) 14-15, (H) 16-17, NSI-«a 5zt
SBT3 9, SRS TR P (37 )35, TR Mfie @ Fres-s5, CU A 19-20, DU C 21-22]

a) One of my friends are lawyers. b) One of my friend is a lawyer.
¢) One of my friends is a lawyer. d) One of my friends are a lawyer.  Ans:c
217. Which one is correct? [RBfes feem sifiwif@-ov, JnU D 11-12, IU H 17-18, 7w wi¥: 7R ARTHF-0]

a) One of my cousins are a doctor. b) One of my cousin is a doctor.
¢) One of my cousins is a doctor. d) One of my cousin are a doctor. Ans:c

218. Which one is correct? . [RU (Law) 07-08]
a) One of my friends lives in Brighton. b) One of my friend l%vcs in Brighton.
¢) One of my friends live in Brighton. d) One of my friend live in Brighton Ans:a
219. Choose the correct sentence. [Strsrjaet et SReT-o8, HSTU (A) 16-17)
a) One of my best friend is getting married today. W WS TG0 N
b) One of my best friends are getting married today. (TG T WG] G W FAR

¢) One of my best friends is getting married today.
d) One of my best friends is getting marry today. . , Ans:c
one of @7 #ta plural noun/pronoun 4=} singular verb 311 get ‘linking verb’ T €T AT verb

@7 past participle 301 (adjective feia) | Get engaged/married/divorced/dressed/undressed

<>
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[DU () 02.03;

. Choose the correct sentence. i T

ot a) One of my bags were stolen from the shop b) One of my;)agfv :;asst jlen i S; oshop_
c) One of my bag were stolen from the shop. d) One of my bag P.

REB) [CU D) 10.11y
221. One of the major — load shedding. (S=rey a3fo amwmﬁiﬁ ) [CU(D) 10 11]

. - lemsis d) problematic issues are  Ang,,
a) problems are  b) problem is ) problem [CU (D) 12-13;

ajor — dding.
222. Last year, one of the major lqad she .
a) problems is  b) problem was ¢) problems was d) problems has been Ans:c

m One i subject RO TIFS T ST ©F possessive case 5 4wI1% one’s TI | |

@M One of the + --plural noun +his/her ... | G One of the students has done his duty,

223. One should take care of — health. [CGDF-« widieraa sl gferwa wfe57-58, ﬁrﬁwmqﬁ_w
One should obey — parents. (FremIe FA T 5eTl '@"ﬁf@) [COU (B) 09-10)
) his b) your ¢) their d) one’s Ans:d

224. Find out the correct sentence. (SIf6® Tove/afows (A Tf6S Ta) [ TqMTT 545 HfFia-oq)
[MBSTU (D) 14-15]

[
)

a) One should not give opinion unasked.

b) One should not give one’s opinion unasked.

¢) One should not deliver his opinion unasked.

d) One should not give his opinion unasked. Ans:b
225. The more hemoglobin one has, the more oxygen is carried to — cells.

(I T @ RS wite, ©F @I o @ wfEes 2f«ifze 27) [DU (D) 03-04, PUST (B) 14-15]

a) its b) our c) their d) one’s Ans:d
226. One should be careful about — duty. (FSL5a IR NAIEN/ToF 2eq Tow) 23 B,

KU (&=feem 31) 07-08, RU 10-11, wroy esm Sfoqrey sz ARBITT-0b, ARFAH A1-do, JU A3 13-14, Sz

e R w -, JKKNIU (%) 16-17, CIIRIAT 1 S, P31, AR TS SAfFARir-30]

a) her b) his ¢) the d) one’s Ans:d
227. One must follow — conscience. (52 Re @0 vait Tfowe) [DU B 05-06, RU E 17-18]

a) individual’s  b) one’s c) right d)' personal Ans:b
228. Carl was one of the most intelligent ----- class. [CU (E) 02-03]

a) student of their b) student of his ¢) students of his d) students of their Ans:c

one of, no one, everyone, everybody, nobody W=t a person, antecedent Row Ige T
possessive & singular w4 his/her 227 | N.B.one of the tsuperlative +plural noun

— singular pronoun

229. Everyone should respect — parents. [SFPiRT @ sifirara St wxfeet-og BSM}:STUI()} 17-18]
Everyone should respect — teachers, [cs;%m, IS -

a) one’s b) his ¢) their d) our (’UW)-i:l ]

230. A st'udent should be careful ahout — duty, [RU ( 04 ALY

a) his b) one’s ¢) all ) the TER) 04-05, 05-06]

5. Interrogative pronoun;gej Ans:a

what 2114 | Interrogatiye pron

O Interrogative pronoun A#Tq wwEre 77 |
O 2717 714 i Antecedent (4=w) apa = |
© 7057 sentence-c G T o} |

O 7 vy Auxiliary verb 3oy (who 3rStw)
© A ity Note of Interrogation (?) 3w

® @1 Simple Senten

ce N |
b) Iﬁf:terday? The word ‘whom’ j§ -—__ pronoun. [IU (F) 04-05]
D) ‘nterrogative  ¢) Demonstratiye d) None of the above Ans:b

<>
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UELINTNE G753 pronoun %6 sentence O 04T T F917 34 |
&: who, whom, whose, which, what, that genfi | Relative Pronoun @3 %87 It 5 Softa:

® Relative Pronoun It NGt 367 | O 1T I WFCe Auxiliary verb U
© 3 Antecedent (761) U Reg eritr wo1er | Relative pronoun @ A ¢ ? 367 |
329 Antecedent AT Tt @ 5t clause (& & 0 4w 578t Complex
O RS TR 1w full stop = Sentence o 30 |
232. Which one is the relative pronoun? [ @ B i Frrt wfiviaag emfs-s9, RU (E) 14-15]
a) He b) You ¢) His d) Who Ans:d
233. ‘Who’, ‘what’, and ‘which’ are — pronouns. [afiwmm 8 “APTATS Sfkmaras Azarar Afasee-38]
a) demonstrative b) personal ¢) relative d) reflexive [Medical 22-23] Ans:c
234. In which type of sentences a relative pronoun JOlnS two clauses? [RU (Law) 04-05]
a) simple b) complex &) compound d) interrogative Ans:b
235. In the sentence, ‘I know the man who has done this.’
The word ‘who’ is which pronoun? [IU 07-08]
a) Demonstrative b) Relative ¢) Reflexive d) Reciprocal Ans:b
236. Itis I who am to blame. Name the pronoun f the underlined word- [BRUR (C) 14-15]
a) Interrogative pronoun b) Demonstrative pronoun [Tt S FwSi-54]
¢) Relative pronoun d) Distributive pronoun Ans:c

237. Who is the man that came to you? Here ‘that’ is a/an — [Reers fRgs (aaeeart 44, -)so]
'All that glitters is not gold.' What kind of pronoun 'that' is in the sentence [KUET 12-13]

a) Indefinite pronoun b) Demonstrative pronoun

¢) Interrogative pronoun d) Relative pronoun Ans:d
238. The underlined word in the sentence ‘Sheela works for a company that makes

furniture’ is- [T SfmeEs iR A3t ]

a) a relative pronoun b) a demonstrative pronoun

¢) a distributive pronoun d) an indefinite pronoun Ans:a
239. Which of the following has not used relative pronoun? [JnU (D) 11-12]

a) I like people who smile a lot.  b) There is a programme tonight which you might like.

¢) Which book do you like?

d) Those who want tickets can get them from the office. Ans:c
240. Who, Which, What are- [12" BCS, RU (ar=afx ) 09-10, (G) 16-17, JU (%) 09-10, JKKNIU (B)

12-13, KU (rrefaeis) 11-12, BRDB &9 %@t S #w€l-do, A7 TIEER 72 T2 Wieme-34]

a) Demonstrative pronoun b) Relative pronoun IU (H) 17-18

¢) Reflexive pronoun d) Indefinite pronoun Ans:b
m 429! 4gte Relative pronoun 93t antecedent M IGT| antecedent IR =07
Relative pronoun fR7a i4@a® who 307 | 74 who 1 ARG that (& T<RIT o4t 17 |

241. Choose the correct sentence. [JnU (D) 13-14]
a) The boy was short who snatched my hand bag.
b) The boy snatched my hand bag who was short. T (=Ll SR TS e R e
¢) The boy who snatched my hand bag was short. fAcafeer o7 <ot e
d) The boy was short who was snatching my hand bag. Ans:c
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242. Select the correct sentence: (KU (B) 14-15 ¢= tall 47 &I clever fom
[RU (B-Law) 12-13, 14-15, JnU (D) 12-13, PUST (C) 14-15, KU (B) 14.15]
0
&) The man was tall who came to my office. b) The man came to my office who was t)

€) The man who came to my office was tall. d) my office who came was tall , Ang;¢
Which one is correct? [26 BCS, stfis e fws-00, ATEO-o¢, DU (D) 03-04, NU (3) 07.95
Iy sfEmis-os, 1U (G) 11-12, JKKNIU () 16-17, JnULD) 17-18, RU (D) 18-19, BSMRST:U (D) 18-19)

a) The man was tall who stole my bag. ri))] The man stole my bag who is tall.

€) The man stole my bag who was tall. d) The man who stole my bag was tall. Ang:q
Choose the correct sentence. [10" BCS, DU (D) 05-06, 7= @ el THATTH FAT Afiecan sy
sfiser-ou, RU (feTafiesr) 05-06, 07-08, 09-10, IU () 10-11]

a) The man that said that was a fool. b) The man whom said that was a fool.

€) The man who said that was a fool. d) The man which said was a fool.  Ang:

Relative pronoun € 2td verb A4RI® O 548t antecedent (noun/pronoun) €9 number

& person I 907 | e.g. It is you who are to blame. It is she who has done the work.
[RU 04-05, 07-08, IU (G) 13-14]

243.

244,

245. Choose the correct sentence. -
a) It is I who is to blame. b) It is I who am to blame.
¢) It is I who are to blame. d) It is me who are to blame. Ans:b

M‘ﬁ clause R w7 gap 97 *ta verb AT @2 gap 9@ 7t person (V&) AFET gap 9 who
7071 € gap @9 %{ thing (I¥) 1 animal (&%) AT gap @ which/that 307 | wdiR W=
relative pronoun X! verb @ subject I ©f 9=*12 who T |

246. ‘I don’t like stories — have unhappy endings.’ ) [CU (A) 07-08, COU (A) 15-16]
a) that B) they c) whom d) who e) where Ans:a
247. The registered parcel — arrived for you is on the table. [DU (A) 13-14]
a) who b) whom ¢) which d) when Ans:c
248. Tell me — that. [24™ BCS,RUF 13-14,IU G 13-14, CU A 19-20, TR1¥ SRweE S8R WoTEta-29)]
a) whom told you b) that told you ¢) who told you d) told you Ans:c
249. These are the policemen — caught the thief. [CU (D) 13-14]
This is the person — came the last week. [G1T TeF-08]
Charlie Chaplin was a comedian — was best known for his work in silent movies.
a) which b) that ¢) whom d) who [JUT17-18) Ans:d
250. The teachers — challenge us are the ones we remember. [JnU (D) 08-09]
a) which b) whose ¢) whom d) who Ans:d
251. :rpe old man — lives next door has bought a car. [COU (B) 08-09]
a) who b) whom ¢) whose d) which Ans:a

Gap 97 ta verb 9%t 93 Gap a7 *tf AT person = AT Gap 9 whoever @71
252, give the clothes to — needs them, (4142 TGS waPlT ©TE EewE whs)  [JnU (D) 06-07]
i 2),"\;/::6 e b) wh.omcver ¢€) whoever d) whom Ans:C
= SO correct option. [WITFE & JC7 27 ©ILAR FEGI WG] [DU (B) 99-00, RU 04-05]
la) G.1ve the work to whichever looks idle. b) Give the work to whom looks idle.
c) .C?IVC the work to whomsoever looks idle. d) Give the work to whoever looks idle. Ans:d
/ Preposition 97 %t noun clause 301% ©1% verb (look, need) 97 =t subject form (whoever)

Wlwwmﬁﬁmmm@ﬁ@ﬁwﬁfﬁthoeverwwl
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w2 clause Rf*2 T gap W 7 noun/pronoun AIF @R antecedent & person =T Gap ¢
whom 37 | ¥ antecedent & thing 31 animal T gap @ which/that 37| &8 fe= clause B2
AITH gap 9T A subject + say/know/think/want/consider/believe Zenfh verb R clause 4=
R 7 ¥ clause (sub + verb) & I o #it verb 9T gap @ who IG7 €< noun/pronoun
Q¥ whom I7 | (@9=: She is a person who Henew: is sincere. (whom 7%, ¥, Henow IM)
wg@eitd, He was the author who Fbelieved was most likely to receive the Ekushe award.

I saw the man who they thought was dead. wedt, I saw the man whom they thought dead.

He is the man whom they say the police arrested. Do you know whom you are speaking to?
254. You can discuss the issue with — you feel can solve your problem. [COU (A) 14-15]

a) who b) whom E:j whoever ﬁj whomever Ans:a
255. I have read the book — you lent me. (25" BCS, SESIP @ za1dt “famda-35]
a) that b) whom c) whose d) what Ans:a
256. It was I — he wanted to sing to. [DU D 08-09, arfie 5z fires (oF 171)-35, BIF (291 SATE59-30]
a) who b) whom ¢) which d) that Ans:b
257. This is the house — I want to buy. [orero wfaweraa e Az21di-so)
This is the pen — I want. [MBSTU (B) 14-15]

a) this b) whom ¢) which d) those Ans:c
antecedent JT&I6F = connective T M4ET® who 377 | antecedent 3836 0T Relative
pronoun/connective &1 Jgres which/that 61 | ST which 7T @I that (& == %41 T4 |

258. I 'met a person — I never saw earlier. [w e (af@)-s0, AN g5 ey Feofiaereas wfea-34]

a) who b) that ¢) which d) whom e) whose Ans:d
259. Everyone knew the poet — the students had invited to speak at the literary club. [RU B 13-14]
a)_ who b) because ¢) whom d) since Ans:c
260. Life is a succession of lessons — must be lived to be understood. [DU (D) 07-08]
a) then b) which ¢) those d) these Ans:b

261. Humans are the only factors in the ecosystem — are responsible for the changes in

the ecology. [CU (F-2) 15-16]

a) which b) whom ¢) who d) what e) how Ans:a
m noun 3 possession (TP) WA connection (F¥%) 3T O ©I7 %t whose 301 1 7, @3 |
262. Salma could not tell — books were left on the table. [DU (A) 16-17]
a) whose b) who’s ¢) who d) who is Ans:a

263. The U.S. congress restored the Medal of Honor that was first presented in 1965 to

a woman — name few of us have heard. [DU (A) 14-15]

a) which b) who ¢) whose d) whom Ans:c
264. Have you met the boy — father is a Major in the army? [JnU (D) 13-14]
a) which b) of which ¢) of whom d) whose Ans:d
265. The book — author won a Pulitzer has become a bestseller. [BU (%) 15-16]
The children studied in a class room — windows were never opened. [22" BCS]
They came to an old building — walls were made of rocks. [NSTU (B) 13-14]
a) that b) which ¢) where d) whose Ans:d
266. The teacher — student evaluations were high won an award. [JaU D 08-09, DUC 11-12]
a) which b) whose ¢) whom d) who [BRURF 17-18] Ans:b
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— — book it is. [CU (E) 0701
! —dress itis. [IU (H) 17-18] I don’t know iy
267. 1don’t know — dres ( L dj whose Ang:q

.l " ' 9
a) what b‘who ¢) who’s |
g) wiha ) [DPE wﬁmmmmﬁﬂﬁm_)ﬂ

268. — man is mortal is a universal truth. D
— Nannu is a good cricketer is known to all. o (D) 99-0)
¢) What d) This Ang:,

a) Which b) That
clause Tfit subject/object 28 ©1&w clause maker fRwTa Aferepef wiretaret Rfew cFaa that @

g . — k in the same office. |
269. My uncle has three sons wo[néﬁﬁ; 3 ) a8 ( »
a) Allof them  b) Who all ¢) They all d) all of whom Ans:ae

O ST S IR 1T Full stop () Witg o1 @at 7fo SEml sentence faum relative pronoun gy
IS Intermediate English Grammar — Raymond Murphy Unit 96 Page 192 o4w

270. My uncle has three sons, —— work in the same office. [15" BCS, KU (Tfasr gm) 1.,
SorceeT SR ¢ fire fww TE-09, BRUR (F) 14-15, RU (312) 03-04, (1, ) 16-17]
a) All of them b) Who all ¢) They all d) all of whom Ans:d
@ &y (,) WITR 1% 9% sentence RNI¥ relative pronoun TIa® XA A2 AT T (Ifeamss)
wt<f all of whom J799® 21 | Intermediate English Grammar — Raymond Murphy Unit 96 Page 192 oy
271. Suzan has a lot of friends, --—- she was at school with. DU =zfe) 09-10)
a) many of whom b) many of them ¢) much of whom  d) much of them Ans-a
€% &7y (,) Witg B3 @9 Sentence 4™ Relative Pronoun 3@ I GRR AW WA (AfE<rs)
wtd many of whom 9% 2@ |  Intermediate English Grammar — Raymond Murphy Unit 96 Page 192
272. A major concern among archaeologists today is the preservation of archaeological
site, -——- are threatened by development. ~ [RU(F) 10-11, JU (F) 15-16]
a) of which many b) many of them ¢) many of which d) which many Ans:c
€% &Ty (,) =R O @36 Sentence 4 Relative Pronoun J592® A G WA AT (IFI09)
wtd many of which J92% @ | Piterson’s TOEFL Section 2: Question No:13 Page 402 g7
273. Choose the correct sentence. [DU (C) 03-04]
a) Jahir’s the guy who giving us a ride. b) Jahir’s the guy he giving us a ride.
¢) Jahir’s the guy whose giving us aride.  d) Jahir’s the guy who’s giving us a ride.
e) Jahir the guy who giving us a ride. Ans:d
antecedent + relative pronoun+ finite verb; finite verb = present form/past form I |
auxiliary verb + base form/present participle/present participle)

274. Leap years, — have 366 days, contain an extra day in February. [DU (D) 15-16]
a) that b) which ¢) who d) what Ans:b
275. Nazrul, — is our national poet, was also a soldier. [DU (D) 15-16]
a) whom b) he ¢) who d) what Ans¢
276. The lady — I am sgnding this letter to is a friend of my cousin’s. (U@ 101
a) whom b) which ¢) whose d) who Ansid
277. _1;11.‘:)’ developed a program — has been refined many times over the years.
a)i b) who ¢) that d) s
€) the those Gl 13-14]A8
278. I know the boy — is there, | e [RU 0506
a) whom b) who ¢) which d) that one pss?
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279. He was reading a book, the name of — I have forgotten. [CU (B) 11-12]

a) that b) whose ¢) what d) which e) whom  Ans:d
280. I haven’t met Mr. Sattar, — painting you admire so much. (IU (H, Law) 10-11]

a) who b) whom ¢) whose d) which Ans:c
281. You met four people -=-----, [RU (B-Law) 16-17]

a) one of whom was my brother b) who was my brother

¢) whosc one was my brother d) whom my brother was Ans:a

T FF pronoun GIEE GF%F noun 97 N ATSIFHFE AFAMISTT
G ¥ SICTHCE Distributive pronoun 3wt | anr: each, cither, neither etc.

Either %191 93099 &te59f6 @3k Neither w1t 530 (wizAfos 7 qaMcA1 27 |

282. They are two brothers, but — of them was honest. [SAU 15-16]
I had two eggs for breakfast and — of them was fresh. [DU (D) 02-03, RU (7m#f52) 09-10]
a) neither b) either ¢) both d) not one [JUST B 14-15] Ans:a
283. Neither of the statements is true. In this sentence the word ‘neither’ is — [RU 07-08]
Each of them was present. Here, what type of pronoun ‘each’ is — [TU 02-03]
a) Reflexive pronoun b) Relative pronoun
¢) Emphatic pronoun d) Distributive pronoun Ans:d
284. Which of the following sentence is correct? [RU (A5) 11-12]
a) Any of the three pen will do.  b) Any of the three pens will do.
¢) Either of the three pen will do. d) Either of the three pens will do. Ans:b

&% M the three pen 93 F0A the three pens *F | IR, Any of ¥¥ #ta plural noun JC7 |
TER @R 59X A Either T 7 YRS Either sy 726 Ui a1 7@9 ¢F0@ U979 37 |

285. Choose the correct sentence. [10" BCS, KU (&r=fem %=) 03-04, RU (F1) 11-12, (E) 12-13
e 4 e SieER-se, 2N wREE-ou, BRDB'T 72 716 S sesl-yo, i wzedl free (oF #d@)-35]
a) A few of the three boys got a prize. b) Every of the three boys got a prize.
¢) All of the three boys got a prize. d) Each of the three boys got a prize. Ans:d
AKETE Y2 A JEd WKE Bfed Ueiee WMl ¥ it Face Each 99%e W
Each of the three boys got a prize. fs7@ Fjfea ez WAMEE 96 I@ TER =T |
m Each, either, neither, everyone 4% possessive case o singular (his, her, your, its) & |

286. Fill in the blank: ‘Each of the ladies told — own story.’ [ffva Bre wrt-13]
a) its b) her ¢) their d) hers Ans:b
287. Each of the sons followed — father’s trade. [33" BCS)
Each of the workers has done — job. [InU (B) 05-06]
a) their b) her ¢) whose d) his Ans:d
288. Everyone of you should do — duty. [RU (B, Law) 15-16]
a) his b) their ¢) your d) one’s Ans:c
289. Neither of the two men wants — son educated. [GTE <iee SO-38, JKKNIU () 16-17]
a) their b) his ¢) them d) its Ans:b
290. The pronoun is agreed with its antecedent in — [NU (&%) 10-11]

a) Each of the companies had their books audited.

b) Each of these companies had it’s books audited.

¢) Each of these companies had its books audited.

d) Each of these companies had their books audited. Ans:c
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]
9 Singular v
: sz Plural Noun/Pronoun erh =
i f, Neither of 4% T Neithor of i
LI Each of, B/9°7D e Neither W1 7200 CPEIDR 0 T <1 Of these by

Either W1 726 (. qpToTeT AT AfSRIPRE o =Mt fc 7 £l
goes past the historical monum(:fll . e amage. (fea T 93 O 2ATSILHR, W) [CU (D) 1_12]4
) _ 1c 10Y L \ ¥l . f
291. Either of't:m to ':;;atlllwcc gitls have ) two girls are  d) two girls is Angg
a) three girls |

[KU (#=1t @ s ;
292. Choose the correct sentence. ey the T oR e cinis %) 09 10]
: a) Each of the men and women are bound to obey the ry.
a) Eac é

BY Each of the men and women is bound to obey the law of the country,
b)) EE aCh1 gf the men and women were bound to obey the law of the country.
C) cac ¢

d) None of the above (3ifd AT ks STETTF AA-JF (T A TS AG)  Ang:h
293. Choose the correct sentence. [InU (B) 10-11, as-enfis szt ferma (givrg,. C‘ﬁf)-)a]

a) Neither of the roads lead to the rail.way stati(.)n. S e . Hifra s (WT:;)M
b) Neither of the roads leads to the railway station. | Eli]] E&t@mﬁ%
¢) Neither of the roads are leading to the railway station. CTCBHT Ty
d) Neither roads are led to the railway station. Ans:h
294. Which of the following sentences is correct? [DU (D) 10-11]
a) Neither of those mattresses feel comfortable. o
b) Neither of those mattresses are feeling comfortable. Q@ o Eﬁa@mﬁs
©) Neither of those mattresses feels comfortable. SRS 0T 27
d) Neither of those mattresses have felt comfortable. Ans:c
295. Choose the correct sentence. [DU (C) 08-09]
a) Neither of these two women are to be trusted.
b) Neither of these two woman are to be trusted. GEy Wﬂﬁﬁﬁm
€) Neither of these two women is to be trusted. SRR Rt a1 A A
d) Neither of these two woman are to be trusted. [T 3 Stz A
&) Neither of these two women has to be trusted. - Ans:c

8. Reciprocal pronoun:Jagkc=i pronoun AT AR 71 ot 37| s each other,
one another. 72ea W<y AT each other Y92 RIWC Wi X one another JIRS 2T | G FAAR
Subject 2 1, 742 object A 4T | ©IF T passive form @ subject @R object @7 WET
BofEREe AE | AV: We love each other. PV: We are loved by each other

296. They fought with one another. Here ‘one another’ is- [RU (G, &) 16-17]
They two love each other. It is an example of -- [BSMRSTU (F) 14-15]
Choose the right parts of speech : ‘each other’ [JU (IIT) 14-15]

a) Personal pronoun b) Relative pronoun

¢) Indefinite pronoun d) Reciprocal pronoun Ans:d
297. Which of the following sentence js correct? [1U 06-07]

g) The three sisters love each other., b) The three sisters love one another

€) The three sisters loves one another. d) The three sisters loved each other Ans:b
298. Identify the correct sentence, | [RU (B) 15-16]

a) The family members love to cach other b) The family members love away each other

€) The family members love between each other,
d) The family members love each other, Ansd
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w Subject/Antecedent 3f% singular ¥ S verb ¢k =3t pronoun 5 7w singular
7@ | @¥: The jury is giving its verdict today. The family does its best to make a living.
[ want him to do his duty. The committee has met and it has reached a decision.
If any student has a question, he should raise his hand and ask.
It is I who am for my offence. [AFTGTANTS et s >t T Antecedent]
Antecedent: GSITAT pronoun = 58} @ noun  pronoun ¢ A wa (12 #4adt noun
pronoun ¥ Antecedent T 1 R subject I object A 208 Al |
m Subject/antecedent I plural 70 S verb @3k #7 a8t pronoun & 6 4% plural T |
@ The jury are divided in their opinions. It is they who have done their duty.
299. The pronoun agrees with its antecedent in. [DU (B) 97-98, JnU 09-10, NU (3+fa%) 09-10]
a) The family does their best to make a living. oferaraf Gifet Soreea
b) The family are doing its best to make a living. Ty A (B2 FA
¢) The family is doing their best to make a living.
d) The family does its best to make a living. Ans:d
300. Which one is the correct sentence? [[braewea oier A e ES(ee] [IU (H) 10-11]
a) The jury is giving its verdict today. b) The jury are giving its verdict (1) today.
¢) The juries is giving its verdict today. d) The juries are giving its verdict today Ans:a
301. An elephant — vigorously when it is overheated. [JU (%4f) 09-10]
é) flapping it ears b) it ears fla ¢) flaps its ears d) ears flap it. Ans:c

. T have got a week to finish this, --- is just about long enough. [eTeEr 371eE (SO, FA)-20]
a) what b) which ¢) that d) who Ans:b
303. Argentina, - is well known for its mountains, is a very popular spot with skitourists.
Nila couldn’t come to the party, - was a pity. [JU (%) 11-12]
a) who b) which ¢) what d) that [KU (S) 15-16] Ans:b
Non-restrictive clause [ (,) @IS STl 2] @ I\ (Fe@ which T9=2© ¥, that G111
304. — is a princess. (— G [ T3]
a) He b) She c) We d) They Ans:b
305. fae% @G personal pronoun? [araifirs T e (oF €1°1)-35]
a) Any b) This ¢) You d) Who Ans:c
306. The roads of Dhaka are wider than — Rajbari. [Fiege NFNER S-SR STETA-35)
a) that of b) those of c) this of d) are Ans:b
'#07. Every opposition candidate except she was defeated in the election. [BREB 9T STEHR
a) except she was b) except her were ABTES- 53]
¢) excepting she was d) except her was €) excepting she were Ans:d
308. The specialist — you want to meet is available only on Thursday.[-r T gff.sfwiE-5]
a) whose b) who ¢) whom d) which Ans:c
309. Which of the following sentences is correct? [T ST W FYOACH FLIA AIFTE-Dv]
a) Everyone of the boy love to ride b) Everyone of the boys loves to ride
¢) Everyone of the boys love to ride d) Everyone of the boy loves to ride Ans:b
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310. Any of you may take it; 1 don’t cm)'c -I— d[;r\('vﬂh'mo-m‘ efsrfiret Ffirm (‘“ﬁ‘%
: who A

a) which b) what . » . ng:e

311. T want a red shirt. But they only had — [faf;a SETTC e st (ifmy -y

a) a onc orange  b) one orange W an orange . X R AD BERRES 20 Ang:g

312. The party was a disaster, There = there. (Fafeq waeereas e rfTE FwE (s ¥y

. ) ; anybody €) was nobody d) was somebody Al

a) wasn't nobody b) was . : '
313. Which of the following sentences is corl ect? [arne weftafes S FEow TrmR Ty,

a) 1 shall be glad to help everyone of my boys. in t.hcir st.udies.
b) 1 shall be glad to help everyone of my boy in hl? Studlfts.
¢) 1 shall be glad to help everyonc of my boys in his studies.

boy in studies. Aia
d) I shall be glad to help everyone of my i
314. Either of these — to the airport. [t SdtAfes e TG mmm%]

J

a) road lead b) roads leads  ¢) roads lead  d)road leads | Ans:h
315. Which of the following sentence is correct? [frdiemt S o (Swam ]

a) Neither of the two player was successful.

b) Neither of the two players were successful. 7EE (TG

¢) Neither of the two players was successful. (FEZ AT fomy oy

d) Neither of the two players were successful. Ans:c
316. Choose the correct sentence. [T T 1w @fFRTBe et yg)

a) I wish I were them! b) I wish I were he!

¢) I wish I were his! d) I wish I were him! Ansb

317. The underlined word in the sentence ‘Whoever violates‘the rule shall be punished’ is

a) a demonstrative pronoun b) a compound relative pronoun [ 1 SO (C)-q]

¢) a distributive pronoun d) a personal pronoun Ans:b
318. Nobel prize is considered the highest honour — can be achieved in certain fields
of work. [NSI-«3 =T “f5ee-39]
a) which b) that )it d) None of the above Ans:b
319. I gave him all the money — I had. (oo fire sifbare e Fwet-o8]
a) which b) what ¢) those d) that Ans:d

the + superlative + noun, the only + noun/pronoun, the same + person, all, none, no+noun,
anyone, everything, anything, nothing 2@jif# @a *ta who/which €3 5T& that T a1 Tav
@ | have no money that I can spare. This is the only one of his novels that is worth reading
Everything that happened was my fault. This is the same man that stole my phone.
320. It should be — (e e e (<60
a) her with whom you share your ideas, not me
b) her with whom you share your ideas, not |
¢) she with whom you share your ideas, not me
l‘izlﬁl;:hwi;h':avhom you share your ideas, not | Ans:
0 .
[mm;q ;;il‘:?:g?f%%a%?;;mphalic use of the reflexive pronoun? 3]
TEH GV, BT e, epspifis i) @ e FHE

a) She saw herself in the mj .
€) I myself did the job, ot by He did the work himsel,

MASTER d) She cooked the meal herself, Ans©
‘ﬂ )
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322. Please vote for the member — has done the most for our village. &7 I AEO-3)]
a) whom you believe b) who you believed [JKKNIU (%) 17-18]
¢) that you believe d) who you believe Ans:d

323. Correct the sentence: Whoever objects to me going to the convention ought to state
hlS position promptly. [erars et e afArehS wfFE-54]
a) Whoever objects to me b) Whomever objects to me
¢) Whomever objects to my d) Whoever objects to my Ans:d

324. Choose the correct sentence. (Wi «x o=y i) [RU (A) 18-19]
a) It is I who am responsible for this. b) It is me who am responsible for this.

c) It is me whom is responsible for this.  d) It is I that is responsible for this. ~ Ans:a

325. The best of the correct sentences is- (2 wffawarad GifeTe SfFTE-o¢]

a) I hope you will excuse my leaving early.

b) I hope you will excuse me leaving early.

c) [ hope you will excuse me for my leaving early.

d) I hope you will excuse of my leaving early. Ans:a
Formal English @ F$3%T verb @R preposition €3 #=7<e! gerund 9 T4 possessive adjective
7 | ©@ informal English/Spoken English @ objective pronoun 43 <R wfie &bl | @1
0@ AT $&F (TR % Formal English % eIy« | &@=: Excuse my/me leaving early.
He insisted on my/me going there. I don’t mind his/him leaving here. I object to your/you
making private calls on this phone. He dislikes my/me working late.

326. Choose the correct sentence. (SId FENE (T2 UTF AAAS (UIF) [T e s-o¢]

a) Neither of them saw each other. b) Neither of them saw the other.

¢) Neither of them saw one another.d) Neither of them saw other. Ans:b
Either, neither @l 30 &TSIFE AW ©F qmrd A each other, one other FIF® A =,
the other T35 2 | e.g. It’s an absurd situation; neither of them will talk to the other.

327. Mark the correct sentence. [+ 1ee gfvae SfFTE-o0]
a) One of the boys lost one's pen. b) One of the boys' lost one's pen.
¢) One of the boys lost his pen.  d) One of the boy's lost his pen. Ans:c
328. It was so dark that the security guard could not see —. [DU (B) 12-13]
a) nobody b) somebody ¢€) anyone d) none Ans:c
329. That young man to — we owe many thanks saved our mother’s life after the car accident.
a) whom b) which ¢) who d) whose [CU B 17-18]Ans:a
330. We cannot believe that the man whose saved you from drowning. [JU (G) 16-17]
a) that b) whom ¢) who d) by whom Ans:c

331. Choose the correct sentence. [DU (B) 16-17]

a) The announcer awarded the prize to Jamil and myself.

b) The announcer awarded the prize to Jamil and me.

¢) The announcer awarded the prize to Jamil and L.

d) The announcer awarded the prize to I and Jamil. Ans:b
332. When a man tended to know how I had got — contact number, 1 told him that I was

given it by a relative of —. [BSMRSTU (F) 18-19]

a) him/him b) his/him ¢) him/his d) his/his Ans:d
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d) her brother

Ans-
P iy " 'Q
v vuns better AL g pgary’s n by others and later ugeg

T3, Jon's A0 mi;:;r b) Mary fwnn)ls as — are spoken by e
SR 0 &

|
i} 313".";5:"':‘ the mcaniﬂﬂ ICu (E) 16~]7]
a :.,',‘;::lr: :; f:\cy ngtg““ ¢) they —it Ang,
§) their — they v 774 Bf6%)  [BSMRSTU (g
:: :lt::’\" __ themselves pm-cllts. (W ﬁf@mmm;m:c:m‘ ) (E) f; 8-]9]
135, One should respect T‘il' ¢) one’s )o BU @ ng:q
335 B) his Mt(c:c(‘- (B! (ST (I FI& 1) ‘ ) 13.14]
136, Find the correct 50'{ il b) It is no one your busnpcss.
) Itis none of your "'x-neS“ d) It is not any your business. Ang
8 s not OnCYOUT e ST TR BIPH GOT i) (RU 04.q5,
337 Which one is correct: .(ﬁ‘_‘mﬁw tat of Dhaka
o &) The rice of Dinajpur is better than that o a.
b) The rice of Dinajpur is better than Dhaka.
©) The rice of Dinajpur are better than Dhaka. .
d) Dinajpur’s rice is better than Dhaka . X 'ns:a
338, The country is about to go bilingual, with two official languages, but — of them ig
- English. h _nn [IUB) 1 8-19)
a) Both b) None ¢) No d) Neither Ans:g
339. Rahim found a laptop in the classroom, but could not determine — it belongeq tq,
a) who b) whose ¢) who’s d) who is [DU A 17-18] Aps:a

340. They asked us, Hamid and — whether we thought that the statistics has been
presented fairly and accurately.

[CU (H1) 13-14)
a)l b) me ¢) my d) mine Ans:b
341. Fill in the gap: Tell me — told You about it. [RU (K) 17-18)
2) Whom b) Who ¢) Whose d) That Ans:b
3 ’) ¥ '4
342, Identify the correct syntax- o [RU (D-wraifieg) 17-15)
e Ia) le)x;, heand1 ) He, youandI¢) 1, you and he d) None Ans:a
> . 7 —— e )
Il)a\sw ;Oszou t;)f) thflse shoes ypl)x think would 80 with my outfit, [CU (B) 17-18]
b) who ¢) which d) that s:¢
344. Tdidn’t buy — i, the end. (coita/carr opeg wIifi fog® fafifiy n
&) nothin ) oty (@) 13-
g b) Something ) everybody g ' :d
345. Alaptop of —_ a0 b Y d) anything Ans:
o 4s been lost, (s GBI w{j1oiGy e ) B) 16-17)
346, 1 cr(:]l?ld not b b) m'ine ¢) me " [MBSTU ( i
) all W bing because — o g, hop was open, by B 02, RUD 11-12
347, She was gq fasudlm):: ;)h(:le f 1|C) o d) llothing o Ans
. ) 0 1¢ t]l]‘e 3 l 2 Ane .
348 f}’h’l"i"lf' D) cither one T her liking, g L
a) m #0 coat belongeq ¢, him by the browp one }10 ong AnS-O]
349 Many i ) me ) mine B [l (A 09‘1’
b hzur With — Y wopy helped me d) mineg Ans®
a i
a) who b) which [DU (IBA) 07‘0.8(}
S.
o
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